3) Pour tout x e R,

C(x) = (x+3)(x=3)—x(2x=7) = ¥’ =3 - (2x°-7Tx) = x¥*-9-2x"+7x = - x*+Tx—9

4]Pnurmulxe R,
Dix)= (x—2)(x*+2x+4) = X +2x° +4x—2x —4x—-B=x"—8
SJPDurmutxe R,

12 3 1 /1y¢ 3 1 3
Ex)=|x—=| +==x*-2 —t|o| o= x4+ =X x4
EX}(I24 x”z[z]4 Xyt —*

6] Pour tout x € R,

_1 2 4_1 2 2, 41 4
F[x}—5[3x 1) 5—5[[3x]| 2x3xx1+1% S_S[sz Gx+1) =

9 6 1 4 9 6 3
Flx)=—x*——x+-——=—x?—=x-=

5 5 5 5 5 5 5

— Exercice 23

Simplifier les expressions ci-dessous :

2
1+v5 vE+1
1},4_[ 2 )_ 7 !

E}B:[ﬁ:vﬁ)z+(ﬁ;v’ﬁJz

Correction .
1) A= 1+5 _v@+1_]:{1+v@12_2[v’§+1}_i
2 2 4 4 4
Lo PH2x1xVE+(VE? 25+ 4_1+42/5+5 20/5+1) 4
4 4 4 4

4
_6+2v5 2(v5+1)
4 4

4
ﬁ+2¢§+—2£—z
4 4

4 4
A —= -
4 4



